

$$\lim_{x \rightarrow -1} \frac{\sqrt{3x+4} - \sqrt{3x+2}}{1+\sqrt{x}}$$

-4

$$x \rightarrow -1$$

$$\lim_{x \rightarrow -1} \frac{1}{\sqrt{3x+4}} - \frac{1}{\sqrt{3x+2}} = \frac{1 - \frac{1}{\sqrt{3x+2}}}{\frac{1}{\sqrt{3x+4}}}$$

(2)

$$= -\frac{1}{4} \in [-1, 0]$$

✓

$$\lim_{x \rightarrow 1} \frac{2x - \sqrt{3x+1}}{2x - \sqrt{3x+1}}$$

-4

$$x \rightarrow 1$$

$$\lim_{x \rightarrow 1} \frac{2 - \frac{1}{\sqrt{3x+1}}}{2 - \frac{1}{\sqrt{3x+1}}} = \frac{2 - \frac{1}{2}}{2 - \frac{1}{2}} = \frac{\frac{3}{2}}{\frac{3}{2}} = 1$$

(2)

$$= \frac{3}{2} \in [-1, 1]$$

✓

$$\lim_{x \rightarrow 0} \frac{a + \sqrt{bx+c}}{x} = \frac{1}{\epsilon}$$

$$x \rightarrow 0$$

$$\lim_{x \rightarrow 0} \frac{b}{\sqrt{bx+c}} = \frac{1}{\sqrt{c}} \Rightarrow \frac{b}{\sqrt{bx+c}} \approx \frac{1}{\sqrt{c}}$$

(2)

$$\Rightarrow \frac{ab}{c} = \frac{(-\sqrt{c})(\frac{\sqrt{c}}{1})}{c} = \frac{-c}{c} = -1 \in [-1, 1]$$

✓

$$\lim_{x \rightarrow \infty} \frac{\epsilon + k \left[\frac{x}{\pi} \right]}{\ln x} = +\infty$$

-9

$$x \rightarrow \infty$$

$$\lim_{x \rightarrow \infty} \frac{\epsilon + k \left[\frac{x}{\pi} \right]}{\ln x} = \frac{\epsilon + k \left[\frac{x}{\pi} \right]}{\ln x}$$

(2)

$$\lim_{x \rightarrow \infty} \frac{\epsilon + k \left[\frac{x}{\pi} \right]}{\ln x} = \frac{\epsilon + k \left[\frac{x}{\pi} \right]}{\ln x}$$

$$k - \epsilon = \epsilon - k \Rightarrow \omega k = 1 \Rightarrow k = \frac{1}{\omega} = 1/4$$

$$\Rightarrow [-k], [-1, 4], [1]$$

✓

محمد ماجد خورما / دوازدهم / 1398

$$x \rightarrow 1^+ \Rightarrow 2[1^-] + a[0^+] = 1$$

-1

$$x \rightarrow 1^- \Rightarrow 2[1^+] + a[0^-] = 1 - a$$

$$\Rightarrow 2 = 1 - a \Rightarrow a = -1$$

$$\Rightarrow \left[\frac{a}{\pi} \right] = \left[\frac{-1}{\pi} \right] = -1 \in [-1, 1]$$

(1)

$$\lim_{x \rightarrow \frac{\pi}{4}} [2x] - 1 = [1^-] - 1 = -1$$

-2

(2)

$$\lim_{x \rightarrow 1} [1x^2 - x] = [x(1x^2 - 1)]$$

-10

$$x \rightarrow 1$$

$$x = \pm \frac{1}{\sqrt{2}} = \pm \frac{\sqrt{2}}{2}$$

$$\lim_{x \rightarrow 1} \frac{-\sqrt{2}/2}{1} = -\frac{\sqrt{2}}{2} \in [-1, 1]$$

(2)

$$\lim_{x \rightarrow 0} \frac{\ln x - \omega + \left[\frac{x}{\pi} \right]}{x} = \frac{-\omega - \omega + [1^+]}{-1 - [-1^-]} = \frac{-2\omega + 1}{0}$$

$$x \rightarrow 0$$

$$= \frac{1}{1} \sqrt{1} = 1$$

(2)

$$\lim_{x \rightarrow \infty} \frac{\mathcal{L}^r \pi x}{[x] + \ln \pi x} = \frac{\mathcal{L}^r \pi x}{1 + \ln \pi x}$$

-10

$$x \rightarrow \infty$$

$$= \frac{1 - \ln \pi x}{1 + \ln \pi x} = \frac{(1 - \ln \pi x)(1 + \ln \pi x)}{1 + \ln \pi x}$$

(2)

$$= 1 - \ln \pi x = 1 - [-1] \sqrt{1} = 2$$

$$\lim_{x \rightarrow \infty} \frac{b\sqrt{r+\sqrt[3]{x}} - rb}{ax-b}$$

$$\lim_{x \rightarrow \infty} \frac{b}{ax-b} \rightarrow \frac{b}{\infty} = 0$$

$$\lim_{x \rightarrow \infty} \frac{\frac{b}{\sqrt[3]{x}}}{\frac{r\sqrt{r+\sqrt[3]{x}}}{a}} = \frac{b}{\infty} \sim \frac{1}{\infty} = 0$$

(2)

$$x \rightarrow \left(-\frac{1}{r}\right)^- \rightarrow x < -\frac{1}{r} \rightarrow x^r > \frac{1}{r} \rightarrow \frac{1}{x^r} < r \rightarrow \frac{r}{x^r} < 1r \rightarrow \left[\frac{r}{x^r}\right] = 11$$

سوال 1

$$\frac{1}{x^r} < r \rightarrow -\frac{1}{x^r} > -r \rightarrow \frac{-r}{x^r} > -1 \rightarrow \left[\frac{-r}{x^r}\right] = -1$$

$$\lim_{x \rightarrow \left(-\frac{1}{r}\right)^-} = \frac{1 \cdot x - \infty + 1}{14x - (-1)} = \lim_{x \rightarrow \left(-\frac{1}{r}\right)^-} = \frac{10x + 4}{14x + 1} = \frac{-\infty + 4}{(-1) + 1} = \frac{1}{0^-} = -\infty$$